



Step 3	<p>Substitute $x=3$ into both equations</p> $Y = \sqrt{3 \cdot (3) - 1} \quad (\text{finding the } y \text{ value at } x=3)$ <p>and</p> $\frac{dy}{dx} = \frac{3}{2\sqrt{3 \cdot (3) - 1}} \quad (\text{finding the gradient value at } x=3)$	<p>At $x=3$, $y = \sqrt{8} = 2\sqrt{2}$</p> <p>At $x=3$, $\frac{dy}{dx} = \frac{3}{4\sqrt{2}} = \frac{3\sqrt{2}}{8}$</p>	1 mark
Step 4	<p>Find the gradient of the normal by finding $\frac{-1}{\text{gradient function}}$</p> $\text{Grad norm} = \frac{-1}{\frac{3\sqrt{2}}{8}}$ <p>This is simplified to $\text{Grad norm} = \frac{-8}{3\sqrt{2}}$ or $\frac{-4\sqrt{2}}{3}$</p>	<p>Slope of the normal at $x=3$ is $-\frac{8}{3\sqrt{2}} = -\frac{4\sqrt{2}}{3}$</p>	1 mark
Step 5	<p>Using all of the components you have calculated, find the y intercept (c), using $y = mx+c$</p> <p>Knowing;</p> $m = \frac{-4\sqrt{2}}{3}$ $x = 3$ $y = 2\sqrt{2}$	<p>\therefore Equation of the normal is $y = -\frac{4\sqrt{2}}{3}x + c$</p> <p>now substituting $(3, 2\sqrt{2})$:</p> $2\sqrt{2} = -\frac{4\sqrt{2}}{3} \cdot 3 + c$ $\Rightarrow c = 6\sqrt{2}$	1 mark
Step 6	<p>Finally answer the question, identifying the equation of the normal.</p>	<p>\therefore Equation of the normal is $y = -\frac{4\sqrt{2}}{3}x + 6\sqrt{2}$.</p>	1 mark